Corrective Assignment 7.2

Name:
Solve each inequality and graph its solution.
1) —14» <266 ) d+v<T
| 1 1 1 1 1 1 1 1 T rl LY
v v v v v v v v v L - ¥ ) T ¥ v v ¥ v [
15 1& 17 18 1% 0 21 12 23 14 & T B g 10 11 12 13
3) -5k <85 x
) 4 —=-13
4
-1 10 -1% -18 -17 -1& -13 -14
1: T T T T T T
=56 =55 =54 =53 =52 =51 =50
a 6) b+ 14 =28
5 17 <— )
. L%
& . 4 + 4 )
12 15 14 15 18
1‘: T T T i T T T T ;
B1 Bl B3 B4 B3 BE BT BB

Ty -195+a>-222

o % L%
LI v [l
- =5 -1 -1
9) 5.2 =4y
o M M iy
LW | T T T L
- ] -1 -1 1

&) —14.53n =-85.727

r
L T T T
3 4 3 &

10y 8§ +x=-20212

e ' L '
N T T T
-6 -13 -14  -13

T
-11

b 4



8 1 1
1) ——vz=—4 12) —n<=——
3 3 5
S > LS A A S R
8 4
13) 2zx— — 14) 2% < —
3 3
él } } } } } } } |> rl } :\
—4 =3 -2 -1 i 1 2 1 4 \—_, —4 =3 -1 -1 i} 1 :.,

Write the verbal sentence as an inequality. Then solve the inequality.

15) The quotient of g and -8 15 greater than or 16) The product of negative two and a number
equal to -5. 15 less than 19.

1) »= 19 é&4——+Hl

15 1617 18 1% 20 21 22 1524 7 N

& 7 B % 10 11 12 135 14
3) kz_]?_(—H—H—H 4).‘!{.’:‘3 —52- J: } } —
=20 -18 -1 -14 =58 =55 _.4 —_.3 =52 =51 =50
5) @85 ¢—t—t—t—Cr—tr—t—rtp 6) b= 14: H—1—O=r—r—"")
Bl B2 B3 B4 BS 8& BT BB
T a»-27- (—|—|{3—|—|—|—|—’ E}HEZE.QZW
—t . —12212 : é—t—t—t—t—t——
9) nz-13: ¢ 4 -3 _;._|1 i ;’ 10) x=-12.212: -15 15 -14 -13 -12 11 -10
3 3
P —  fep—— ety 2 e — o —————
11}"’52-‘_1 5 1.: HEH 12) n= 3 -5 4 -3 -2 -1 0 1 2
2 2
13) ¥ <3 e W<y ey

15)_% > —5; g <40 16) -2n<19; n>-9.5



